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Time: 10 Minutes Paper English 7 (T-1) Total Marks: 10

2nd Month, 3rd Week, 2nd Day
Syllabus: Unit # 4: Pre-reading + Para: 1,2,3. Paragraph: Rainfall / A Rainy Day.
Q.No.1. Choose the correct options. A3)
1. Lakhnow Pact was signed in:
@ 1915  |w| 1916 e 1917 @) 1918 |
2. Quaid-e-Azam was born in:
|(a)| Lahore |(b)| Karachi |(c)| Islamabad |(d)| Sialkot |
3. He played an important role in the Lakhnow Pact. The tense of the
sentence is:
|(a)| simple present |(b)| simple past |(c)| simple future |(d)|past continuousl
4. Choose an adjective form the following words.
|(a)| struggle |(b)| customs |(c)| sacrifice |(d)| important |

Read the following paragraph and answer the following questions.

It was due to the untiring efforts of Quaid-e-Azam (,,Jum;:@) that the Congress
agreed to a separate electorate for the first time in 1916 after the Lucknow Pact,
when the Nehru Report spoiled all efforts of Hindu-Muslim unity. The Nehru
Report was rejected by all shades of Muslim opinion.

5. Who did effort for separete electorate?
@ Nehru  [(b)| Quaid-e-Azam [(c)] SirSyed |(d)| Allama Igbal
6. Nehru Report spoiled:

(a) Elections (b) Muslims

(c) Hindu-Muslim unity (d) Hindus

Q.No.2. What is meant by the Two Nation Theory? ?2)
Q.No.3. Write a paragraph about "Rainfall / A Rainy Day." Q)
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